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��������	�
 ����
�
�����

�����	
 �����
� ����

�
�% � 
� � �� 	
�% � 
�'
� % � 
� � �� 	� % � ��% � ���

�� � 
� ���% � 
��
��% �� ���� % � � ��
�
�
��% � �� � 
��

'��� �� ��
� ��
���	� ��� � �� 	
��
�% 
� �
���

�
��	�
�'�����
��- �� ���� # �
�% � ��% � 
�'
� % ��

��
�
�
�% �
� �� �	�� �� ���	� % � � ���$
�% 
���	��

% � 7	��������
��� ���
����������#

�����% �� �� ���� % ������
��% � �'������ 
� ���%

�� ���� % � 
� 
� ��$� �� 
� �$����# 2 � 	�� � �
�% � �

� ����� � ���$�� �
���
��� �� % ��
��� � � ���% �
�% �

�� ��
� ��
��� � ���$
� 
���	�#

1 �
�	� �� ��' ������ � 
�'
� % � � 
�
������� 
�% � 
��

��� �
�

���� �
� �� �� �� � � '� � � �� ��
��� 
�(�� �
�

����� � ���� 
��� �� ��
��- �	���- � 
�(�� �
� � ��� �� ��


� 
� �� �� �� � 
� 
� �� �� �#"� �� �� �
�� �� 
����� � 	� ��� 


% � ��% � ���
��� ��� % � ��� �
� 
� ��<
�
� �� 
�� ��� ��

� � ��
�
��� �� '� � � % �
�����	
� � 
�-	� ��#,�% � � 
��

��
��� �
�������$�
�
�� ����% � � �� $�� ��� �	�

� 
�� 
� 	�� ��% � - � ��
�
�� � �$
� ��% � 
��% ����
��'


��� �� �� � � ��� �
� 
� �� ��� �� �� �� �� 
��#

1�$��
� ��
���� ��� 
�� ��<
�
� ��� 
����� �	� ��7

�
��% ����
��
�� ��
�� $
���	� � ����% � �� 
� ����� � 	� �

��' �
�� 
� �
��% � � 
��-��
�' �
�� 
� � �� �� 
$
��#

�
��
��� �% � ���� ���
�% � � % � � ��
��� � �	� ��<
��


���7 �
��% ����
��
�� �� 
�� $
���	� . . . 2� $����	�

�
�$� �� �
� �
����� ��
�
�� �
� �� �� �� 
��= > ��% ���

'� �	� 
� 	
������� � 	� ���
�� 

��� ��
 
� � �� ����

� 
��-��
��
�� 
� 
	�' �
�� 
� #

1 � 
�����% $
��� ������ '�	�
���� % � � �� �� 
����
��

�� �� � �% �
����� 
�� % ���� $����� �� 
�����������
�

���	
��
��� ���� �� 
� �� 
���� �
��� � �� �� 
�� �� �� 


(�
�
��� ��% ���
� ���$�% an = a(n)�n ∈ N#

1 % 
�'�% � 
�$��% �% � � 
���	�% � �� �� 
�% 
���
�

����% �
� �� 
��� �
�$� ��
�����(�
% ��� �� �� �
��
�� 



��� :�� �� % ���� $����������
�; ���� �� �� ��
�
� �� ��
��


���� � 	� 
�� � 
�$��% � #

2 � 	
� ��% � �� 
� 	���
����<
�
���� 
��% ����
��' 
��

�� #

�




� � ��� � ���
	� �
�
�

��� 
� ����� �	� �� ��� ���
�- �
�� 
�	� ��' 
��� ���


� �
�% � � d����� ��% � �� 
��� 
���

an+1 − an = d

:�� �� �� $���� �� an − an−1 = d��� �� �
�� �� � ��� �;#

> 	� �� % ���� � �� � ���	� ��7

an+1 = an + d, d ∈ R.

> 	� � ������
�� 
��� 
��� �
� �
��� �� 
�� �� �� 

���
�

����% #

�� % � �� � 
� �� � � ��� �� �� �� � ����
� 	
� � 
�% ��
���

���
���$��
� ��
� ��<
�
����
� % ���� % 
�'� ��
�
���#

"� �� �� �$��

� �� ��� 
� � �� 	��� �� �� �� � �� �� ��

��<
�
�������� ���� (�
% ��� an = a1 + (n − 1)d�
�� �� �� �� � 
� 	� (�
% ��� �$���� an = a(n)#�� ��� ��

�$��

� 
� 	����� �� �	� �� 	 
�� ��	� � 
��% ����
���

'��� �� � 	� ���
�� 
	��������
�	 ������	 �	� �� ��� ����


�- �
�� 
�	� � � 
��
�% � �� �
�� �� �� $�
� 	��������
���

� 
	��
�� 
#,� �� �
�� ���� � 
�	��
�
� 
������� � 
�% �

��
� ���	� 
 � � � % � �
� '���	�% #

��� � % � �� 	��
�
� ��
�������
�- �
� '� 
�� � �� 
��

���������� 
�� :'��� �� '�� �� % �'��
�; ��<
�
� % �

(�
% ���% an = a(n) �
�� �� 
�
% � �
� ��
���	� ��

�� �� �� ��<
�
� % � �� 
��% ����
��
��#

���� �� ��
� �� �� � � % �� �� ��'� 	
�% �
� 
� ��� �


� �
���#

�����
���	 ��� (an) �	�	� '
����
�

an = dn + c; d, c ∈ R, d �= 0

�
�� �� 	��������
�� ���+

�	��� �	� �
�� 
�	� � 
��% ����
��' 
��� � �7


� ) � ����� � 	� ��' �
�� 
� 
��� :���% � 
	�'; �
��% �

� 
��-��
�' �
�� 
� �� � �� �
� ����
� �� d�'��� ��

d 
�� �� 
$
���� ��<
�
��� 
��� #

(
�	�,

an+1 − an = d(n + 1) + c − dn − c = d.

�� �	� ���
�� 
� 
��% ����
��' 
��� :���% � 
	�'; �� � 
���

% ����
�� � 
���
� �	� �� ��� ���
�- �
�� 
�	� #

(
�	�,

an−1 + an+1

2
=

d(n−1) + c + d(n + 1) + c

2

=
2dn + 2c

2
= dn + c = an.


� �	� ���
�� 
� 
��% ����
��' 
��� �� � 
��% ����
�� � 
��

��
� �	� �� ���
� �� ��� ���
�- �
�� 
�	� 
��� �� ��

�� �� 	 ?����	�@ �
�� 
� �� ����#
(

an−p + an+p

2
= an, p ∈ N

)

�� ��� �� r �s $��� ���� �	� � 
�
��
� $
��� �a(n)
� 
��% ����
��
����� �� 	
�����7

ar+s = ar + sd = as + rd.

���� ���	
�
�� /; �3; ���
���� 	
��� �� 
�� ��� �� �� ��

�
��� �����#

����� �� ���� �� ���� � � 
� 	���
� � 	��� �	� % �&��

��$
� ��	�	� ��
�
� ���	�	� ��
�
� ��<
�
���
��� #,�

�
� �
��� 
�� �����% � ���
� �� ��- �	��� �� 	� �% � �

���� �� � 	��� �	� ��� 
� � �� ����
����� 
�
�'�
�� ����

�% � ���
� �� ��- �	��� �� 	� ����% 
��� an = dn + c#

���� ���% � ���� ���
� � 
��
����	� �	�' � 
����� � �$�


� ��� 
��% ����
��' 
��� #

2��� �� (�
�
��� a(x) �� �� 
� (�
% ���%

a(x) = dx + c; d, c ∈ R, d �= 0.

! 
� (�� (�
�
��� �� � 
� 	� 
 ������
� �
�% � � a��� � 
�

���
�#

2 � ���x � � ���
�� A�B �C��
��� �� � � � 
��� 
���%

n−1�n�n+1A n ∈ N#2��� � �D�E �F ���
�� � 
� 	�

�- ���������	
�� 
���� ���
�� 
 ��

�




� a��� �� �� � � �
��'�
� �
� � 
����
��� ��- ���
� ��


� �� � � � 
�� � �� 
� 	� ���
�� A�B �C#

9 ��
��
� �� ���
�� E � � E (n, a(n)) �� 
� ��'
� ��

���
�� D �F#

�
�% � �
� �% � 
�� an = dn + c# �
�����|BE| =
a(n) = an#�� �� �� �� �� |AD| = a(n − 1) = an−1 �

|CF| = a(n + 1) = an+1#

" � �����
���% � �� � � �
��
� �� ���
� �� D� E �F �
�

��� � ��� 
� �
�� 
� � 
��% ����
��' 
��� a(n)#

" $�' � ���

�� ��	
�����an+1 − an = an − an−1#

�� �� �� �� �� �����
� BE � 
��
��
� �
� � ��� ACFD�

�$�' �
�'� ��
an−1 + an+1

2
= an#

2 � �	� � � % � 
� �
�
� ��� �� ���� �� �
�� 
�	� � 
��% ��

���
��' 
��� 	
����� � 	��� �	� ���� � % � �� 
� 	� ���� �

�� ��#

� ���

� % ����% � ��<
�
� ���'��% ��
��� ��
���� � ���%

���� �� ��� 	��� �	� ���� �% � �� �
�� 
�	���' 
��� #

�����
���	 ��� (an) �	�	� '
����
�

an = rqn
; r, q ∈ R, r �= 0, q �= 0, 1

�
�� �� ��
��������� ���+

� 	��� �	� �
�� 
�	� '��% ��
��� ��' 
��� � �7


� 9 	�
���
�� 	� ��' :�� �% � 
	�'; �
�� 
� '��% ��
���

� ��' 
��� �
��% � � 
��-��
�' �
�� 
� �� � �� �� 


$
������
� � $
��� q �� ��<
�
��� 
��� #

(
�	�,

an+1

an

=
rqn+1

rqn
=

qn · q
qn

= q.

�� �� � ����
� 	
����
�� �� 	� ��' :�� �% � 
	�'; �
�� 
�

'��% ��
��� ��' 
��� ���
� �� �� '��% ��
��� ���

� 
���
�� � � ����
�- 	
����
�� ���	� �� � �� ���
�-

�
�� 
�	� ��' 
��� #

(
�	�,

√

|an−1| · |an+1| =
√

|an−1 · an+1|
=

√

|rqn−1 · rqn+1| =
√

|r2q2n| = |rqn| = |an|.

� ������� % � �� � � �	� �	� ����
� 
��� ����� �

� 
���
� 	� �� � � 
��
����� ���������� � ��	��� � 	���

� �� ���% �
�% � 
���
� % � #

> � �% ��- �	�����
� % � �� � �� ���� ���� �	��� �� ���	� �


� �� 
�	
� � 
���
�#, � � � #	��
�����	 ���	��	��	

� 
���
� #

���� ����% � � � ��<
�
��� ��- � 
���
� #

> �
� �
�% � ��-� 
% �
��� ���'��% ��
��� ���� 
��% ����
��

��	� �
� �
� � 
���
� �	� �� � �����	
�- $
���	� x �y�
��

��% H�G�A �K��� �� ��<
�
� % �7

H =
2

1

x
+

1

y

, G =
√

xy,

A =
x + y

2
, K =

√

x2 + y2

2
.

�
� ��'
� � � �� � 
���
� ��<
�
� �� ��� �
����	��� � � ��

����	
�- $
���	� #

1 � � ��� � �% �
�% � �� �� 
� 	���
� � 
���
� 	
�����

� ��
� ��� �� �� 	 
����
� ��� ��#2 � �% ��� �� �� �� �� 


� ��� � �����	
�- $
���	� X = {x1, x2, . . . , xn}��� ��

�� �� 
�	
� � 
���
� ��' � ��� � 	
�����
�� 
����
� �

��� ��7

min X ≤ H ≤ G ≤ A ≤ K ≤ max X,

� 
��
�% � � � 	�% 
����
� ��� ��% � 	
��������
� ��� �

� �� �� � % � � �� �� x1 = x2 = . . . = xn#

 �'��

� �� � ��� 
��7��� �� �	��� �� ��- � 
���
� � �� �

���� 
���	�����% � �� � 	� ���
�� 
��'�	� 
� ���
� � 
����


� �	� �� � �� ���
�- �
�� 
�	� �	
��������� �� �
� �	���

� 
���
�=

��� �� �	�
���	�� �� ������� �� �- ��<
�
� ��=

�
��� �� �� 	�% � �� � �� ����
�� h(n) � ����% �� � 	� ��

�
�� 
:�� �% � 
	�'; -� 
% �
��� �� � 
���
� �	� �� � �� �

���
�- �
�� 
�	� #

�
�% � ��<
�
���-� 
% �
��� �� � 
���
� 	
�����7

hn =
2

1

hn−1

+
1

hn+1

,
1

hn−1

+
1

hn+1

=
2

hn

.

��



� � ��� � ���
	� �
�
�

1	���% � ���� % ��
�
1

hn

= an���$���% �7

an−1 + an+1

2
= an,

��� ��� �� �����
���% � �� � � 
�
�� 
��

� 	
����
����

�
�� 
�	� 
��� (hn) �
�� 
�	�� 
��% ����
��' 
��� #

, � ���� 
�% ��
�
���� � 
��% ����
��' 
��� 3�7�11�15�

19� . . .����
���� 	
� ��$���% � 
��
1

3
�

1

7
�

1

11
�

1

15
�

1

19
�. . . �	� ���
�� 
:���% � 
	�'; ��' 
��� �� -� 
% ��


��� �� � 
���
� �	� �� ��� ���
�- �
�� 
�	� # "� �� '� �

� � � 
� ��'���
� � 
��% ����
���'��% ��
��� ��
�����	��

% � #	��
������ ��� :� ���
�% � % ����;#

2 � ����
���� 	
���� 
��% ����
��
�� �� 
�� an = n��� ��� �


�� � 
�
��
�- $
���	� 1, 2, 3, . . .#"� �� �� 
� �����


���� 	
���-� 
% �
��� ��
��
1

1
,

1

2
,

1

3
, . . .

�B �� �� �� � �� � ��% �% -� 
% �
��� ��' 
��� � ��
� �

��% ���	� �� 
� 	� �	� � � ���$� 
�� �� 	 
��# ,� ��

� �'���	� ��
���
� � 
�� � �
�
��
1

1
+

1

2
+

1

3
+ . . .�

������ ��$��
� ��
� 
� ��	� :� � % �; #	��
������ ���#

2 � ����
� �
�
% ����% � � ��� �� ���� � �� ����
�� (kn) �
����% �� � 	� ���
�� 
����% � 
	�'��	� �
� �
� � 
���
�

�	� �� ��� ���
�- �
�� 
�	� #

��� �� �� 	 
�� � �� ������� �� 	
�����

kn =

√

k2
n−1 + k2

n+1

2
, k2

n =
k2
n−1 + k2

n+1

2
.

> �� 	�� �� �����
���% � �� � � �	� �
� ���
�� 
�	� �
� ����


�' 
��� �
�� 
�	�� 
��% ����
��' 
��� #> 	� �� ��
�&�



�� (kn) ��	� �� ��	��	��� ���#

,� % ����% � �� �� ����	� ��#��� �� (an) � 
��% ����
��


�� � � �����	
�% �
�� 
�	�% � ��� �� �� (kn) = (
√

an)
�	� �
� �
�
��#

, � �	��� � 
�% ��
�
� 
���	�
√

1�
√

5�3�
√

13�
√

17�

. . . �
√

3�
√

10�
√

17�
√

24�
√

31�. . .#

������� 
	 1 
��� (an) �� �� 
� �� a1 =
1

2
�a2 =

1

5
#

���������
�� �� �� �� �� �
�'��
�� 
-� 
% �
��� �� ��
��
�

�
�� 
'��% ��
��� �� ��
��	
���
�� 
� 
��% ����
�� �� ����
�� 


�	� �
� �
� � 
���
� �	� �� ��� ���
�- �
�� 
�	� =

-��������, ��� �� �� 	 
�� � �� ����� �� �� � � $
���	�
1

2
,

1

5
�a3 ��� � ��� 
��
�� 
�	�-� 
% �
��� ��' 
��� #

"� �� �� $
���	�2�5 �
1

a3

��� � ��� 
��
�� 
�	�� 
��% ��

���
��' 
��� ���� ��� ��
1

a3

= 8��� ��� �a3 =
1

8
#

�
���	�a2�a3 �a4 �
�� 
�	��� '��% ��
��� ��' 
��� �

��� ��� �� a3 =
√

a2 · a4 ���a4 =
a2

3

a2

�a4 =
5

64
#

�� �� �� �� �� $
���	�
1

8
�

5

64
�a5 ��� � ��� 
��
�� 
�	�

� 
��% ����
��' 
��� ���� ��� �� a5 =
1

32
#

�������
��� �� ���
�� 

��� ��$���% � �� (�
% ��� ���� 	
��

������ �
�� 
�	� �	� �
� �
�' 
��� a5 =

√

a2
4 + a2

6

2

���a2
6 = 2a2

5 − a2
4 =

2

32
2
− 25

64
2

=
8 − 25

64
2

< 0#

"� �����
���% �� �� �� ���
�� 

��� 
��� 
�� �� 
$
����$�'

�
�'� 
� � �� ������ �� 	 
�� �
�
��#

�� � % � � �	����% � �� �� ��� ��� �� ������ �
�� 
�	�
��

�� % �'� $�����% � ����
�$
���	�:�� �� 	 �� 
�� ��	�

�
������	� ���;��� �� $��� �� �� � �% � � 
���� �
��#

�� �� �
�% � ��<
�
� �����
� 	
� �� 
���	� ������ % ��

'� �-	� ������ � 
�� �
��
��� � ���
�% � n���' ���� 
�� #

�����
���	 2�� (an) �� �� 
�	� ��7

an = αkn
k + αk−1n

k−1 + . . . + α1n + α0;

α0, α1, . . . , αk ∈ R, αk �= 0, k ∈ N

��	� �� �
���
��� ��� k���' ���� 
�� #

2 � ����
���� 	
����� �� 	 
�� �� 
�� � 
	�' � ��� 
�� ���

k = 1A an = α1n + α0 ����� ��$��
� ��
��� ��
� ��

an = dn + c� �� �� � ��
� ��� 	��
 �	� �� ��<
�
� 
�

� 
��% ����
��
��#

�� �� �� �� 
�� an = α2n
2 + α1n + α0 ���an =

an2 + bn + c �� � ���
�% 
�
�� �
�'�' � ��� 
�� #

�����
���	 "� �� �� 
�
�� (an)�
�� (bn) �� �� 
�	� �

��7

bn = an+1 − an,

�. ���������	
�� 
���� ���
�� 
 ��

�



��	� �� 
�� :� 
	�-; 
� ����� 
��� (an)#

, � ���
� � 
�% ��
��� 
�� 17�20�25�13�15�30�35�

40�39�. . .�
�� � 
	�- 
� ����� '�� ��7

3, 5, −12, 2, 15, 5, 5, −1, . . . .

2�� � 
	�- 
� ����� �	� �� ��<
�
� 
�' 
��� (bn)�
��
(cn) �� 
�� �
�'�- 
� ����� 
��� (an)#

"� ��� �� �� �� 
�
�� (an) �
�� 
�	�
��� (cn) � �7

2, −17, 14, 13, 10, 0, −6, . . .#

2�� � 
	�- 
� ����� � 
��% ����
��' 
��� � �� �� 
�� 
����� ��


�� �� 
��
� ��������� an+1 − an = d��� � 	� ��� 
��


��� 
$
��n > 1#

2�� � 
	�- 
� ����� '��% ��
��� ��' 
��� �	�
���
�� q

��� �'��% ��
��� ��
�� �� ���
��
��' �	�
���
�� q#���

�� ���% � ��#

��� �� an = rqn��� �� ��

bn = an+1−an = rqn+1−rq = rqn(q−1) = sqn
,

'��� �� s = r(q − 1)#

> �� 	���� 
�% � � 	��� �	�% � '��% ��
��� ��' 
��� ��� �

�����
���% � �� ��
�� (bn) '��% ��
��� ��� �	�
���
��%

q#

�� �� �
�% � 
� 	�� ��
��� � 	��� �	� 
��� an = an2 +
bn + c#

������� �	 "� �� 
�� 
�� an = 2n2 − n + 3#

�� > �
��������� ��
��
�- �
�� 
�	� 
��� #

�� > �
���� ��
��
� �
�� 
�	� 
��� (bn)� 
��� � 
	�-


� ����� 
��� (an)#


� > �
���� ��
��
� �
�� 
�	� 
��� (c)� 
��� �
�'�-


� ����� 
��� (an)#

�� ���� 
� ����
����� � 
���	�% � (bn) �(cn)=

-��������,

�� a1 = 2 · 12 − 1 + 3 = 4�

a2 = 2 · 22 − 2 + 3 = 9�

a3 = 2 · 32 − 3 + 3 = 18#

�� �� �� �� ��
� �
�
� % � �� ��
�� �
�� 
�	� 
��� (an)
���$���% �7 4� 9� 18� 31� 48� 69� 94� 123�

156, . . .#

�� ���
��
��
�� 
�	�
��� (bn) � �7 5�9�13�17�21�

25�29�33�. . .#


� ���
��
��
�� 
�	�
��� (cn) � �7 4� 4� 4� 4� 4� 4�

4, . . .#

2 � ��% ���� �	��� �� 	� � 
��% ����
��' 
��� �
� ����
���% �

�� �� 
�� (bn) � 
��% ����
��#

�� �� �� �� 	���% � �� � � � 	�
� � �� � 
��
�� 
�	�
��� (cn)
% �&���$
� ���
� ���
� ����
���% � �� �� �� �
�� ��� �

�� 
#

> 	� 	
������� �
�
��� �� � 	� ��
�� �$���� an =
an2 + bn + c��� �� �
�% � ���� �� ��� �������
�% � 
��

% ��
�#

������� 
	 ���� ����� �
�
��� �� �� 
�� � 
	�- 
� �����


��� an = an2 + bn + c � 
��% ����
��� � 
�� �
�'�-


� ����� � �� �� 

��#

-��������, > �
� �
�% � ��� (bn) 
�� � 
	�- �� (cn) 
��

�
�'�- 
� ����� ��� �� 	
�����7

bn = an+1 − an

= a(n + 1)2 + b(n + 1) + c − an2 − bn − c

= 2an + (a + b).

����% � �� ��
�� (bn) �$���� bn = dn+c �$�' �
�'�

�� �� �
�� � 
��% ����
��#

2�� �
�'�- 
� ����� 
��� (an) �� 
�� � 
	�- 
� ����� 
���

(bn)#

"� �� ��

cn = bn+1 − bn

= 2a(n + 1) + (a + b) − 2an − (a + b) = 2a;

cn = 2a ∈ R.

"� �����
���% � �� �� (cn) � �� �� 

��#

2 � ������ 
� �
�
���� ��� �� �� 
�� � 
	�- 
� ����� � ����


�% 
�' 
��� � ��� 
�� n � ���
�% 
�
�� ���� 
�� n−1#

,� 
�� �� 
��
� ��������� ��<
�
��� bn = an+1 − an#

�� ��'� �� ��&�
 ��������� �� 
�� n − 1 
� ����� � ��

��
�% 
�' 
��� n���' ���� 
�� � 
��% ����
���
�� n���-


� ����� ��' 
��� � �� �� 

��#

������� �	 > 	� � ������
�� �	
�
�� � 
�	��
��� � ����


�% 
�
�� �
��
�' � ��� 
�� #

�/



� � ��� � ���
	� �
�
�

-��������, , 
�$� ���� �� ���� ��
�� �
��
�- 
� ����� 
���

an = an3 + bn2 + cn + d; a, b, c, d ∈ R, a �= 0

� �� �� 

��#

"� 
�� � 
	�- 
� ����� ��' 
��� 	
�����7

bn = an+1 − an

= a(n + 1)3 + b(n + 1)2 + c(n + 1) + d

− (an3 + bn2 + cn + d)

= a[(n + 1)3 − n3] + b[(n + 1)2 − n2]

+ c(n + 1 − n)

= a(3n2 + 3n + 1) + b(2n + 1) + c

= 3an2 + (3a + 2b)n + (a + b + c).

�� �� �� �� �� 
�� �
�'�- 
� ����� 7

cn = bn+1 − bn

= 3a(n+1)2 + (3a+2b)(n+1) + (a+b+c)

− [3an2 + (3a + 2b)n + (a + b + c)]

= 3a[(n + 1)2 − n2] + (3a + 2b)(n + 1 − n)

= 6an + (6a + 2b).

9�
� �

� �� 
�� �
��
�- 
� ����� 7

dn = cn+1 − cn

= 6a(n + 1) + 6a + 2b − 6an − 6a − 2b,

�� ��� �

dn = 6a ∈ R.

������� �	 > �
���(�
% ��� �� �$
�� � ��
��
�- n

�
�� 
�	� 
��� an = an2 + bn + c#

-��������, , 
�$� ��
� �
�
� ��

sn =
n

∑

1

an =
n

∑

1

(an2 + bn + c)

= a

n
∑

1

n2 + b

2
∑

1

n + c

n
∑

1

1

= a · n(n + 1)(2n + 1)

6
+ b · n(n + 1)

2
+ c · n

=
n[a(n + 1)(2n + 1) + 3b(n + 1) + 6c]

6

=
n

6
[a(2n2 + 3n + 1) + 3bn + 3b + 6c].

9�
� �

�7

sn =
n

6
[2an2 + 3(a + b)n + (a + 3b + 6c)].

�������� �� ��� � � ����% �� % ���� ��
������$
��

s = 1k + 2k + 3k + . . . + nk; nk ∈ R

:	����#�� 
��
7 *
�	�
�� ���
��������% �
��"� '
�$�

*++C#;

��% ��
� ��- (�
% ��� % ���� �� ��
� �
�
� ��n���������

% ��

��$
��� 	� ��'� � ���
�% 
�' 
��� #

������� �	 1 
��� (an) �� �� 
� �� a1 = 1�a2 = 2#

�� > �
��������� ��
��
�- �
�� 
�	� 
��� �� �� �� � �

�
�� 
�	�� � � 

�% �
���� �% � 
��% ����
�� � 
����


� � � �
�� 
�	�� 
�� � 

�% �
���� �% :���% � 
�

	�' �
�� 
� ; '��% ��
��� �� � 
���
� �	� �� ��� ����


�- �
�� 
�	� #

�� > �
���(�
% ��� �� �� �
��
�� 

��� (bn) ������

� ��
�� 
��� (an) � 
�� � 

�% �
�����% � #


� > �
���(�
% ��� �� �� �
��
�� 

��� (cn) ������

� ��
�� 
��� (an) � � � 

�% �
�����% � #

�� > �
���(�
% ��� �� �� �
��
�� 

��� (an)#

-��������,

�� 2 � ��% ���� ��<
�
��� � 
��% ����
�� �'��% ��
��� ��

� 
���
� 
� � ����% � � ��
��
� �
�� 
�	� 
��� (an)7

1�2�3�
9

2
�6�8�10�

25

2
�15�18, . . .

�� �� �� �� �� % ����% � ��
������ ��
��
� �
�� 
�	�
���

(bn) 71�3�6�10�15, . . .

"� 
� &�
� �
�� 
�	� 
��� � ��
��
��
�� 
�	�
��� � 
�

	�- 
� ����� � �72�3�4�5�. . .���� ���
� ����
���% �

�� �� 
�� �$���� bn = an2 + bn + c#> �� 	�� ���

�� n = 1, 2, 37

a + b + c = 1,

4a + 2b + c = 3,

9a + 3b + c = 6.

) ���� �
�� �	�' ��� �� 	� ��7

a =
1

2
, b =

1

2
, c = 0.

.� ���������	
�� 
���� ���
�� 
 ��

�



"� �� ��

bn =
1

2
n2 +

1

2
n ��� bn =

n(n + 1)

2
.


� ���
��
��
�� 
�	�
��� (cn) � �7 2�
9

2
� 8�

25

2
�

18�. . .#,� �
�� 
�	� % ����% � � �� � ����	� ��

1

2
· 4,

1

2
· 9,

1

2
· 16,

1

2
· 25,

1

2
· 36, . . .

> � �
��
�� 

��� �� cn =
1

2
(n + 1)2#

�� > 	�(�
% ���	
������� 
������� � ��
��
�- �
�� 
�	�


��� #���� ����% � �� �� ��� ��� 
� � % ���% � �� �

�����
����� �
� 	
����� �� ��� �
�� 
�	� 
��� #�
���

� �� �� 	�% � ���� �� 	
�������
�$� ���� ���� �� ��7

*#�
��% ����
�� � 
���
� �	� �� ��� ���
�- �
�� 
�	�


��� (bn) �� �
�� 

��� (cn)#

5#!��% ��
��� �� � 
���
� �	� �� ��� ���
�- �
�� 
�	�


��� (cn) �� �
�� 

��� (bn)#

(
�	�,

*#

1

2
(bn + bn+1)

=
1

2
·
(

n(n + 1)

2
+

(n + 1)(n + 2)

2

)

=
n + 1

2
· 2(n + 1)

2
=

(n + 1)2

2
= cn;

5#

√
cn · cn+1 =

√

1

2
· (n + 1)2 · 1

2
· (n + 2)2

=

√

[

1

2
· (n + 1)(n + 2)

]2

=
(n + 1)(n + 2)

2
= bn+1. D#�#�#

�� �� % ����% � 
� � �� � ��(�
% ��� �� �� �
��
�� 



��� (an) ���� '�� ��7

an =

⎧

⎪

⎨

⎪



k(k + 1)

2
, n = 2k − 1

(k + 1)2

2
, n = 2k

, k ∈ N.

.



